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Guess Paper – 2012
Class – XI
 Subject – Mathematics

	1.
	Write the solution set of the equation [image: image2.png]x> +5x+6=0



 in Roster form.

	2.
	Write the set [image: image4.png]A = {x:x is a positive integer and x* < 20}



 in the roster form.

	3.
	Write the set B[image: image6.png]= {x:x is an integer and — 2 < x < 9}



 in the roster form.

	4.
	Write the set C[image: image8.png]= {y: yeN, Z§y<2574}



 in the roster form.

	5.
	 Write the set D[image: image10.png]= {z: z is a prime number which is divisor of 50}



 in the roster form.

	6.
	Write the set E[image: image12.png]= {5,25,125,625}



   in the set-builder form.

	7.
	Write the set F[image: image14.png]={3,9,27,




   in the set-builder form.

	8.
	Write the set G[image: image16.png]{1,8,2




   in the set-builder form.

	9.
	Write the set H[image: image18.png]= {14,23,32,41,50}



   in the set-builder form.

	10.
	Write the set K[image: image20.png]{3,571




   in the set-builder form.

	11.
	Write the set X[image: image22.png],1003



   in the set-builder form.

	12.
	Write the set Y[image: image24.png]={M,ATHET,IC,S)}



   in the set-builder form.

	13.
	Write the set Z[image: image26.png]


   in the set-builder form.

	14.
	State whether “ The set of lines which are parallel to the y-axis  ”is finite or infinite.

	15.
	State whether “ The set of positive integers <  100 ”is finite or infinite.

	16.
	[image: image27.png]{x:xelLx =27,x<5}






	17.
	State whether A = B or A = C:

[image: image28.png]A = {x : x is a Natural number,x is divible by 3,x < 15}




[image: image30.png]B = {3,6,9,12]



,             C[image: image32.png]= {3,6,9,12,15)



   

	18.
	State whether A = B  or not:

[image: image34.png]A={-2,-3}



,    [image: image36.png]is a solution of x* + 5x+6 =0}





	19.
	If  [image: image38.png]A={-1,-4,3]



 then find [image: image40.png]P(A),the power set of A.



 Also find [image: image42.png]n(P(4)).





	20.
	Write down all the subsets of the following sets
(i)A[image: image44.png]={x €eR : xis asolutionof 2x* — 7x+5 = 0}




        (ii)[image: image46.png]B={12345}





	21.
	Write the following intervals in set-builder form :        (i) [image: image48.png][—2,4]



          (ii)[image: image50.png](=7,-6]





	22.
	If [image: image52.png]A={1,246}



, [image: image54.png]B ={x:xeN,x < 6}



 ,find [image: image56.png]AUB



and [image: image58.png]ANB.



Show it in Venn Diagram

	23.
	If [image: image60.png]A={x:xeN,x <4}



, [image: image62.png]B={y:yel,-2<x<4)



 prove that

 [image: image64.png]ANB={z:zeN,z <5}



Is [image: image66.png]ANB =






	24.
	[image: image1.png]x> +5x+6=0



[image: image182.png]If [image: image68.png]BnC=C



 then which is correct? (i) [image: image70.png]


      (ii)[image: image72.png]


  (iii) [image: image74.png]


 

	25.
	[image: image76.png]A={a,e,io,u}



, [image: image78.png]B = {x:x is a consonant }



 , [image: image80.png]AnB






	26.
	If  [image: image82.png]A={x:xel,x 210,x <3}



, [image: image84.png]B = {1,2}



 ,find [image: image86.png]AUB



and [image: image88.png]ANB



.

	27.
	If [image: image90.png]A={x:xel,-1<x <5}



, [image: image92.png]B ={1,3,5,7,8}



 ,find [image: image94.png]


 and [image: image96.png]


 .

	28.
	If [image: image98.png]A ={3,59,10]



 [image: image100.png]B = {4,5,7,8)



 ,find [image: image102.png]A—(BnA4)



 and [image: image104.png](A—B)U(B—A).





	29.
	Prove for any three non-empty sets A,B,C   :    [image: image106.png]AUBNC)=(AUB)N(AUC)





	30.
	Prove for any three non-empty sets A,B,C   :    [image: image108.png]An(BUC)=(ANB)UANC)





	31.
	In the adjoining fig., show the portions   [image: image110.png]


 , [image: image112.png]


 and [image: image114.png]NnB



 .
Hence prove that
(i) [image: image116.png](A-B)U(B—A)U(ANB)=AUB




(ii) [image: image118.png](A-B)Nn(B—A)N(ANB)=0






	32.
	If R is the set of real numbers and Q is the set of rational numbers, then what is

[image: image119.png]




	33.
	If [image: image121.png]U= {x:xeNx<10}



, [image: image123.png]A={1,2357)



 ,[image: image125.png]B = {7,89,10}



,find 
(i[image: image127.png]


)      (ii)[image: image129.png]


              (iii) [image: image131.png]A€



                (iv) [image: image133.png]B¢



               (v) [image: image135.png]A°n
BE€





	34.
	If [image: image137.png]U = {10,20,30,40,50,60,70,80,90,100}



 ,[image: image139.png]A = {10,20,30,50}



 ,
[image: image141.png]B = {10,20,70,80,90}



 then prove that  [image: image143.png](AnB) =
)¢ =A“UBC©



 and

 [image: image145.png](AuB) =
)¢ =A°NnB°





	35.
	Prove that for any three sets A,B,C :(i) [image: image147.png]A—-(BUO=A-B)NnA-0)



.
(ii)[image: image149.png]A-BnCO=A-B)u@-0)




(Take any three sets.)

	36.
	For any three sets A,B,C , check that[image: image151.png]A= (AUB)-B



 if    B    A

	37.
	For any three sets A,B,C , check that[image: image153.png]A—B=A—-(ANnB)



 if [image: image155.png]ANB#0





	38.
	 If [image: image157.png]A = {x : x is a odd natural number less than 20}



, [image: image159.png]is a positive integer less than 20 ]



 then find  (i)[image: image161.png]


(ii)[image: image163.png]




	39.
	Prove that for any sets[image: image165.png]


 and[image: image167.png]


,[image: image169.png](AnB) =
)¢ =A“UBS©



.(analytical proof)

	40.
	Prove that for any sets[image: image171.png]


 and[image: image173.png]


,[image: image175.png](AUuB)‘ =
)¢ =A°nB¢



.(analytical proof)

	41.
	Prove that for any sets[image: image177.png]


 and[image: image179.png]


,[image: image181.png]n(AUB) = n(4) +n(B) —n(ANn B)





	42.
	In a class of 70 students, each students study at least one of the subjects Maths or Biology. If 50 students study Maths, 10 students study Maths and Biology both. Find the number of students who study Biology.

	43.
	In an Auditorium, 80 students are sitting to see either Tennis or Badminton Matches. If 55 students are watching Tennis, 40 watching Badminton, find the number of students watching both Tennis and Badminton. Find the number of students who is neither watching Tennis nor Badminton.
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